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instructions:

(1)
(2)

(3)
(4)
(5)
(6)
(7)
.1

All questions are compulisory.

Q.No. 1to 4 objective type questions every questions are 7
marks.

Q.No.
Q.No.
Q.No.

5 to 12 each questions are 2 marks.

13 to 16 each questions are 3 marks.
17 question are 4 marks.

Q.No. 18 and 19 each queslions are 5 marks.
Q.No. 5 to 19 internal choice is given.

nﬁasnsaﬂ%a?rﬁﬂasﬁﬁa@ﬁmgﬁw

Select the correct alternative in each of the following-
1. o ad A5 @8-

Light year is the unit of-

(1) gft=mr (2) T g ==
distance Time

(3) g1 At =1 (4) Toamm= @1
light energy mass

2. yurh IuEE o1 uf¥EEnor we Sy 2-

The period of revolution of a geo-stalionary satellite
IS-

1 FE-THeN, Wi o=
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(1) 365 fa=r
365 Days
(3) ==nteT 84 AR

nearty 84 minute

(2) 24 o2

24 Hours

(4) 3T

infinite

rRed ATt Iet X Tt B-

Select the correct alternative in each of the following

questions-

(1) ¥a® 3" | (Only in solids)
(2) &= zat &/ (Only in liquids)
(3) 3= At & (Only in gases)

(4) S, aadT A &

(in solids, liquids and gases all)

ofers =1 RAdfra I -

The dimensional formula for power is-

(1) [MLET-E]

(3) [MLT?]

A fd B-
Vector quantity is-
(1) ==rH
work
(3) 3amAan
impulse
ITHA JFTET B
The incorrect relation is-

(1) L=1w

(3) E:—— % lw

-miaasmaanf%—

More elastic substance
(1) ===

Glass
2

(2) [Mn L:.“T—I ]

(4) [ML*T ]

(2) -fas ===t
kKinetic energy
(4) =&
speed

(2) 1=mKk2

(9 <=5
(2) s=m=a
iron

THHI-UHEN, Y a=
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| (3) nfeers (4) 73

Plastic Ruber
g2 Pes e = gfef I (Fill 10 the blanks)- 7
(1) 4'C O T 5T FTAAA ..oooeeenenee BEen&2 1
At 4C volume of wateris ... ... . .
(2) FHIAA ... %) & "cagof fafer 1
wave motion is an important method of ... .. ... ..
(3) Ao aFR R ETTBN FTA ... . B
On increase in temperature the viscosity of liquids
(4) i goor A e ftiaaref ... 2

The working substance in a camot engineis...........

(5) =moflaador.............. 3fHR|

Angluar momentum is a ...............quantity.
(6) 1eV-=........... I (Joule)
(7) Fyeflafrgas s Rsflags ................ 21
The dimensional formula of gravitional constant is
et oNfAY W (Make the correct pairs)- 7
1. 131 ofés - (1) S 3megof
1 Horse power moment of inertia
2. [MLT] - (2) 107 3t (erg)
3. =N foram - (3) 746 &= (Wah)
Adiabatic law
4. 1 SIS (Joule) - (4) |91 (Momentum) *
s. [ML*T] - (5) PV = forgais
Constant
3. Rl wmrames - (6) 2 ot
Unit of stress None
RyERAasamers - (7) ges/fe22
Unit of strain N/m-2
3 wHI-omIRY, siiftrs wrew
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H.5

Q.7

O e/ @ ® IR Sfo- 7
Give the answer in cne word, sentence
(1) mﬁmmmﬁmﬂamﬁﬁmﬁwmaﬁ
gran &7
On which waves the pnnciple cf superposition of waves
does not hold?
(2) F@rs mesn = vas sarzzor Ao |
Give one example of Isothermal process.
(3) AaT =51 wfta=or AfRap |
Write Mayer’s relation.
(4) == @R gea= A1 fReaen ene
What will be the escape velocity on moon?
(5) qeft 3 Fsg =51 g 7= AON?
What is the value of g at the centre of.earth?
(6) =rofta FAer =51 =icres RAfRag |
Write expression for angular momentum,
(7) s geasY g ot A 50 A5.g7 10 ge=t I Fanaw
Strar @ | & snegof sa HS |

A force 10N is applied on a door at a distance 50 cm
from its hinge. Find the torque.
gdfta e 3 sz 22
What is a polar satellite?
arerar/ OR

2

__oeras 3o R =Ea 82

What is escape velocity?
g B 41 aead 29 5

What is meant by measurment?
3ty /OR

xer Sl e et 22

What are the fundamental quantities?
TaaaTeT e A aan g 87 2

What do you mean by centre of mass?

4 TBAT-THIE, s &
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1.8

0.9

".10

o111

o.12

3ryaT/ OR
TS O 351 geul T g &, a4t
The handie of a water hand-pump s generally long. Explair
Fzeft ae R ea 27 Ues e A | .
what is a conservative force? Give an exampie

3rgan/OR
gfes & = arcad 87
What do you understand by power?
perea afa =51 31 JFHSIR0 | 2
Wwhat is understood by projectile motion?

are@ar/ OR
=1 @01 12 A, 3 gefta 7ef o2 8ot a= & ofd AU
A T JINAT | 201 951 ot e Fra oW |
A particle makes 3 revolutions per second on a circular path
of radius 12 CM in horizontal plan. Find the angular velocity
of particle. https:/www.upboardonline.com
et 5 Fhn R @ aread 22 2
What is meant by the term elastic limit?

arerar/OR
zaz 31ftes TRy & a1 A F4a1?
Which is more elastic: rubber or steel? Why?

e F3slt 35 faesTor A I arad 87 2

What is meant by the interference of two sound waves?
srar/OR
ey =fAeszor 45 uean & Fof WAt &kt 227 afRR B A

FBFA?

Is energy conserved in the phenomenon of interference? |if

yes, how?

Ao areh aftal afRdd | @ ol &, =4at? 2

Why does the pendulum clock go slow in summer?
3ryar/OR

wftfas e 2

What is s refrigerator?
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0.13

.14

H.15

T.16

o= il uare Faee # R HiSw F axm s &
feres Aar=gy AR @1 AN At | 3
In one-dimensional elastic collision, show that relative velocity
of approach is equal to relative velocity of recede.

3r@ar/ OR
Ra2 ar & RS == = 33 wnfda HHfSw |

Eastablish the formuia for the potentia! energy in a stretched
wire.

frex Hfdg Rs-

Prove that -

Fofta FA91 = SIm= amgof x il Aar 3
Angluar momenum = moment of inertia x angluar veclocity

3rear/OR
SrEe smeuf W sraad el ST 3R FAEAR el IRy
fRae |
State theorems of parallel axis and perpendicular axis.
FIENR 2 oig RAiRag awn 3R g How | 3
Siate and prove Bernoulli's theorem.
arr@r/OR
Faré ¥ T argRusHg g A aHR aaaar &7
What is lhere above the meniscus of mercury In the
barometer tube?
Prafafiga = afnfea Hifng- 3
Define the following.
(1) J=eh afd
Oscillatory motion
(2) === aw AR
Phas2 and phase diference
3/ OR
A eafay aen B TN 1 Renoft aufdaszor ¥ e smasas
gl =1 Iex@ HSw |
State conditions for the constructive and destructive
interference of two sound waves.

6 WU, e wren
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